p. 153 46

Find the equation of the line tangent to
the curve at the point defined by the
given value of t

x=2*+3 y=t" at t=-1 (5];)
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Find thet which the tangent line to the curve
is horizontal and/or vertical
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1. Acurve Cis defined by the parametric
equations x =t?— 4t +1 and@ Find the

equation of the line tangent tothe graph
of C at the point (1, 64)? AT L
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* A zoo sponsored a one-day contest to name a new baby
elephant. Zoo visitors deposited entries in a special box
between noon (t=0) and 8 P.M. (t=8). The number of entries

in the box t hours after noon is modeled by a differentiable

function E for . Values of E(T), in hundreds of entries, at

A N

various times t are shown in the table.

t(hours)

0 2

5

[

7

8 \

E(t)

(hundreds of

entries)

0 4

13

\

* Use the data in the table to aggr;QximaI_e_th_e_Latiat time

t =7.5. Show the computations that lead to your answer and

explain the meaning of the found rate.
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* A zoo sponsored a one-day contest to name a new baby
elephant. Zoo visitors deposited entries in a special box
between noon (t=0) and 8 P.M. (t=8). The number of entries
in the box t hours after noon is modeled by a differentiable
function E for . Values of E(T), in hundreds of entries, at
various times t are sh%vin in the table.

t(hours) 0 (12 \ 5 7 // 5\
E(t) 0 4 13 21 23
(hundreds of \J KJ
entries)
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* The function f, whose graph consists of two line segments,
is shown. Which of the following are true for f on the open
interval (-2, 2)?

,I./The domain of the derivative of f is the open interval (-2, 2)

@f is continuous on the open interval (-2,2)
K- The derivative of f is positive on the open interval (-2, 2)

a) |l only
b) )l only
c) lll only

d) Il and Ill only

e) |, 1l, and Il




If the function f is continuous at x = 5, which of
the following must be true?

a)f(5) > lim £(x)
) lim f(x) # lim £ (x)

/3= lim /()= lim /()

d)Thederivativeof f at x=35 exists

e) Thederivativeof f i1s negative for x< 5 and positive for x> 5
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